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He knew about n2w in regards to 17210 — IPRIN 0 VIT

OVERVIEW

13m ' taught that the 7wn which states that there are forty-nine nMax» Max
teaches us that if one transgressed all the Max27» (in a MIRYA NAWY DAY NTT)
he will be 211 forty-nine m&vn. The &) asked that according to "2 who
requires X? N (meaning he is not aware that there is a prohibition to do
this 719X?n) how can there be a naw N1, since he is not aware that naw is
different from any other day of the week. n1901n discusses possible alternate
answers to this question

mooIn anticipates and rejects a possible solution:
— HOINTA 1Y YT 90 S8 NY

The X713 could not have answered that he knew that it was N2V regarding

the 708?72 which 2R maintains that you are 119 if you transgress it. The reason is

because -
— ()9 ynwun NP XD HHNND N12 2,9 97) NP 7992 *NHYY97D *NON 290 M NPT

Even regarding that 70X%» he is still 2> a nXun, as I explained in the
first ?99; he is (only) "o from 77°p0 if he did it 7172,

nooIN asks:
— VYA NaYY NY y1o9 9INP ND INANT PNYY 1293490 NN

And the "1 finds the s'®13 question (of "2 naw 7% ¥7°7) astonishing! For
why did not the X7 answer that he knew it was naw in the sense that

there is a positive commandment (F7R2¥ N1¥7M) to rest on NIV -
$5(xY ow) NAYN HNX ONINYI 2 29099 ‘05 mnw) 991 MAVYN *¥avn DY) 22N5T

As is written, ‘and on the seventh day you shall rest’ and it is also

" See later on 2,y where the X3 discusses whether by maX%» N33 naw naxw he is 21 more than one nXwA.
2 anm 12 *0°X maintains (see 2,1) that (even though) there are forty-nine max»; however he is not 2n for
one 779X7n, but we are not sure which ;772871 he was referring to. N190n is now assuming that *o°X meant he
will not be 211 a nXvn if he did this 32w32 7oX77. Let us say that this person was aware only that this 7X71
is forbidden, but he did not know that the other forty-eight n1ox%n are forbidden. Therefore if he did all the
n1ox97 he will be 271 a nxvn for each one (since he knew that it was >0°k72 naw). See TIE 73"7 'own 2,1 naw
Ry (footnote # 8) and R 7",

? Therefore when the 71wn states forty-nine it means that he is required to bring forty-nine nuvr, and if he
knew °0°X73, then he would only bring forty-eight nixvn. We must therefore assume that he did not know
any N19X71 even *0°R73, so how was he aware that it was naw?!
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written ‘and you shall guard the naw’. He knew that one must rest on naw;
however he was not aware that the specific NMoX?» are 72 00K, It is a N2w 177 and a
mMaxo naw; therefore he is 21 for each 7ox%M. Moo does not answer this question.’

SUMMARY
>D°X maintains that one 79897 is Mo from 77°p0, but is NV 21, The RMA
should have said that he was aware of the 7wy of mawn.

THINKING IT OVER

When n1901n suggests that he knew naw through the 7wy, does NMdOIN mean
that he knew that for doing the m2ax?» (v?) one transgresses the 7wy, or that
he was generally aware that one must rest on n2w, but he was not aware
which type of work is included in this 7wy?

APPENDIX
MNYT 20T 11997 NNVN 12 PNT NINA PID3 IINT INNY MMINNT INDA DD Y157 91951 81 XY
—INNNA LY 9N IIRY NIADY 19V D3 MININN Y2 9N

The X3 could not have answered that he was aware of the 21an»7 WY (not to lead
your animal while working) according to the one who maintains in the last p9p, that
there is no nxwn for 7nn; for since he assumes that he is permitted in all the n>x%»,

he certainly does not assume that he is obligated to prevent his animal from working -
—1PNNNA DY NP RNT 2D %297 NIIDN NIYANI NPD Y197 910912 81 NDY

And the X3 could not have answered that he knew naw regarding the nox%n of
burning according to > (who maintains that nX¥> %% and there is no 127 for 77van),

for the mw» mentions 79Y357 as one of the Mox>n for which you bring a 1277 -
— TN 19V Y5 MAN Y19 DT 11997 N1DINA "D Y197 9199100 NI

And we cannot say that he knew a 7790 (but not the maR); for since he did not know

the max, he certainly did not know the m7»n -
— NI INYTN AW RY 13 ONT NDIP0A 1Y YT 919909 XD

And we cannot say that he knew there is 779920 for naw 917°n, but did not know there is

a XY; for in that case he is not 1Ny 7>2 2w since he knew you are 72°p0 2711 -
03190 MY TN /N 923903 NIYN 29N NIT 9209 1993 P9IV HYLY D 9199 N92© PN
— DN ) AN MIAN /) 9993 IN

And it is illogical to say for instance he made a mistake in the amount (required to be
72w) for instance he assumed that one is not 2917 unless he carried five n»K in a
9" (instead of four) and one is required to sew three stitches (instead of two), or

write three letters (instead of two) -
L0239 MODIN] 1NV NYIY INYTH 99X NIVIY NYIY N7

For it is uncommon that he should forget (the correct 21¥°w) and say on his own an
incorrect M.

® See 0"an 77 12 OANAX M OWA 0NN, M W NAw, and YR WX,
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